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1. Which river is believed to have originated 1. zfamon ¥ gf=m Teara 4 e T = 37
from the Har-ki-Dun glacier in West Garhwal T-Fl-71 AR F a7
of Haryana ? . &
(A) Dohan (A) Srea
(B) Ghaggar (B) X .
(C) Hanuman Ganga (C) Txm T
(D) Saraswati (D) HTE=l
2.

The nursein assessing the patient diagnosed 2. Sframy Afere s & ifsa niw i sit=d awa

with bacterial meningitis observes clinical

. . : gt urdt & {3 frem & v # fafreadia
manifestations supporting the diagnosis, A 2, T a7
which does it suggest ?
(A) Positive Kernig's sign and nuchal (A) TERRICH i H1 TE0T 3R =4 HiY
rigidity gedl
(B) Negative Chvostek’s sign and facial (B) THENCHS TARATF T &I 3 A |
tingling fire
(C) Poa?itlve Babinski's si.gn and () T S —
peripheral paresthesia E\[ \iil.:l =
(D) Negative Trousseau's sign and _ ST
nystagmus .lj] AR 3‘@1 g 3R i

3. How many times did Om Prakash Chautala

3. 30 weT steren frad aw et ¥

become the Chief Minister of Haryana ?

e o ?
(A) 2 (B) 4 (A) 2 (B) 4
(C)5 (D) 3 (C)5 (D) 3
4. Thesixrights for medication administration | 4. ffFea 3 e afi smusn ®
are as follows i
(A) Right medication, Right route, Right (A) el ==, WE A, Wl f"ﬁ’ e,
patient, Right dose, Right time and TR 97 37 T S
Right documentation
(B) Right patient, Right medication, Right (B) TR I°fh, Wt 7, wdh W, wR
time, Right prescription, Right date fféeear, =@ fuftr ok o v
and Right documentation
(C) Right dose, Right route, Right (C) &1 wr, weh wr, T &, Hel
symptoms, Right documentation, RS TR, He frem i wd T
Right diagnosis and Right medication
(D) Right dose, Right patient, Right (D) Wt W, wel T, Wt e, v
formulation, Right documentation, Right TR, FEl 2a1 3 §a S
medication and Right atmosphere




5. In which psychotherapy, the patient is
directly exposed to the phobic stimulus, but
escape is made impossible ?

(A) Aversion therapy

(8) Flooding

(C) Systemic desensitization
(D) Shaping

6. Haryana State Medicinal Plant Board was
set up in which year ?
(A) 2003 (B) 2005
(C) 2002 (D) 2004

7. Study the following arrangement carefully
and answer the questions given below :
CUBAEDEDABEBAUCDBCAD
BDUBCACBEDA

How many such vowels are there in the above
arrangement each of which is immediately
preceeded by a vowel and also immediately
followed by a consonent ?

(A) One (B) Two

(C) Three (D) Zero

(o

The normal pulse rate of a heal\th}‘édult is
(A) 90 beats /minute (B) 110 beats/minute
(C) 130 beats/minute (D) 150 beats/minute

9. If in each number below, all the three digits

are arranged in ascending order within the
number, which of the following will be the

highest number ?
(A) 574 (B) 658
(C) 821 (D) 945
10., Whichamongthe followingis a communicable
disease ?
(A) Cardiovascular disease
(B) Cancer

(C) Tuberculosis
(D) Diabetes Mellitus

10.
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form wAifafrem 1 ft = wirdfies 8 g
AT TAT 141 8, T T8 1 35wy
anfem e ?

(A) Faaen fafe

(B) wEAfET

(D) Wifdm

gfemon Ty s arey e & T s
ad g i ?

(A) 2003 (B) 2005

(C) 2002 (D) 2004

fr=frfaa sraea @1 3eEgA #t s A= fig
Trqwﬂaimi -

CUBAEDEDABEBAUCDBCAD
DUBCACBEDA

391 gy 1 R fah @ & foraes 31 veet

e IAFae e 7

(A) TF (8) @

(C) s (D) =

UF Ty TU g AE R
(A) 90w /e (B) 110 ¥uEA /e
(C) 130 ¥ /fime (D) 150 ¥¥eA [ e

Iz Frafafaa y@® den F 9 3 F
FE w1 et e s, @ sE-H
TEa gad 9 Bt ?

(A) 574 (B) 658

(C) 821 (D) 945

feafafea g 8 FH-TToF g U e ¢
(A) geTaTtEt I

(B) Fa

{C) &@tm

(D) WYHE.



11. Where s the Indian Naval Academy located 7
(A) Visakhapatnam (8) Mumbai
(C) Ezhimala (D) Kochi

Which among the following personality
is said to be the father of folk theatre in

Haryana ?
(A) Ali Baksh

(C) Daya Chand

12.

(B) Lakhmi Chand
(D) Mukesh Yaday

What measure helps in prevention of
drying of mucous membrane during oxygen

administration ?
(B) Humidification

(A) Nebulisation
(C) Combustion (D) Steam inhalation

13.

Who wrote 'Haryana Ka ltihas' ?
(A) Banarasi Das

(B) Ram Singh Jakhar

(C) Pandit Shri Ram Sharma
(D) Pandit Neki Ram Sharma

14.

Which of the following centres of the Indus
Valley Civilisation was found in Haryana ?

(A) Mitathal (B) Bhirrana
(C) Bhagwanpura (D) All of the above

The Mahendragarh fort in Haryana was
built by -

(A) Narendra Singh

(B) Mahendra Singh

(C) Prithviraj] Chauhan

(D) Tantia Tope

15.

16.

Chari dance of Haryana is related with which
of the following festival ?

(A) Navaratri (B) Teej

(C) Googa Navami (D) Holi

17.

Which is the earliest immunoglobulin to be
synthesized by the foetus ?

(A) 1gG () IgM

(C) IgA (D) IgE

18.
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1. W a1 e el a7
(A) Faemammm (B) TE
(C) ufzmmen (D) Fife7

12. Fr=fafiaa i & e efeon @ @ arae
FfmFea e ?
DEGEE:
(C) =41 =8

(B) w1 =7
(D) HH¥1 F1EE

21 U T -G 39T FErEd T o
EESLERAE (B) wfifeir
(C) T&A (D) M9 T
14. g @ 3fer fFaa foaan ?
(A) FATEH TH
(B) Tm fae @z
(C) ifEn #ft T 7
(DY ritea i 7w Imi
1\‘5.-‘-' %guﬁmmﬁm%f@aﬁﬁrm-m
2 gicaon 8 g 1 ?
(A) frarara (8) fiwr
(C) WTEEgy (D) 39t &+
16. ehemn i wezme fren fhesh &0 s
g Y
(A) 7tz fae
(B) ez fa®
(C) gt
(D) difean 2/
17. Frefafaa o @ SH-91 R giamem F =9
I @ grfea @ ?
(A) T (B)
(C) Tpm et (D) ereht
18, e TE YOI H HYG g 9
AT A &
(A) 1gG (B) IgM
(C) IgA (D) IgE



19)

=l -«:7%‘

19.

20.

21.

22.

23.

24,

25.

The Palk Strait is situated between
(A) India and Maldives

(B) Maldives and Madagascar

(C) India and Sri Lanka

19.

(D) Sri Lanka and Indonesia

What is the reason for the presence of
golden colour of amniotic fluid ?

(A)' Rh incompatibility
(B) Preterm labour
(C) Postmaturity

(D) Oligohydramnios

The dimension of economics that studies
how individuals make decisions to allocate
limited resources is known as

(A) Positive Economics

(B) Micro Economics

(C) Normative Economics

(D) Negative Economics

20.

21.

22.

Ifx:y=5:2then (8x + 9y) : (8x tﬂzy)‘is
(A) 22:29 (B) 26: 67
(C) 29:22 (D) 6_1‘5526

Which town is called the Cherrapunji of

Haryana ?
(A) Adampur
(C) Chhachhrauli

(B) Cheeka
(D) Farakhpur

The process of selecting a subset of
population for a survey is called

(A) Survey research (B) Representation
(C) Triangulation (D) Sampling

What age group the development of social
smile occurs ?

(A) 2 months (BY 4 months

23.

(C) 6 months (D) 8 months

d5.

24.

25.
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(A) @ A AT
(B)mﬁiﬁﬂaﬂtﬁanm

() A 3 A

(D) sfieian 3N ST

o 78 % gaee i A aufeafa F fm
FHE R 7

(A) Rh 3@l

(B) TAYH TEA

(C) o
(D) siferreefmsia

sefarrea i 9 e S i FamAl F
ez i safaadt g ot fmio 6 e
Ffie,  wwemiel

(p) FHTAS

(B) HEW TATTEA

(C) Forammes refvITEA
(D)mmaianfmﬁ

ﬂﬁx:y=5:2.??I(Bx+9y):(8x+2y)=?

(A) 22:29 (B) 26:61

(C) 29:22 (D) 61:26
Wﬂ%ﬁmmaﬁmmm%?
(A) AL (B) ==

(C) T (D) FET
waﬁm%%qméw%qmm
ahgﬁaﬁlwﬁﬂi____m?ﬂh
(A) TET IFTHTA (8) faffue
(c) Frg (D) s
{a;amga{sﬁuwmmmﬁmm
arane ?

(A) 2 W18 (B) 4H1®

(C) 6 1Te (D) 8T



27.

29,

30.

3.

32.

33.

Which of the following is recognised as a
Bird and Biodiversity Area of Haryana ?
(A) Bhindwas Wetland

(B) Basai Wetland

(C) Kalesar Wildlife Sanctuary

(D) All of the above

Which of the following is not the work of
poet Khushiram Sharma ?

(A) Rana Nimantrana

(B) Yuddha Charita

(C) Sur Sagar

(D) Guru Gobind Singh

. Which of the following districts in Haryana
share its boundary with Rajasthan ?
(A) Ambala (B) Palwal
(C) Mahendragarh (D) Yamunanagar

When performing CPR on an adult, how
deep should the chest compression be ?
(A) 1% inches (B) 3% inches
(C) 5% inches (D) 7%z inches
A
data at a time.
(A) Serial
(C) Open

port transmits one bit of

(B) Parallel
(D) Software

are the prefqr(ﬁétied slide
designs that help you enter text. graphics,
and other things.

(A) Slide layouts

(B) Slide presentation
(C) Slide cover

(D) Slide background

Inyear
as the first smoke free city of India,
(A) 2002 (B) 2004
(C) 2007 (D) 2018

The total age of A and B is 12
than the tota) ageofBandC. i

Ci
years younger than A ? SHow oy

(A) 12 (B) 24
(C) Cis elder than A (D) None of these

, Chandigarh declared

26.

27.

29,

30.

31.

32,

33.
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Prefiaa i & i g o1 el 301
e & 3 w9 A e 9 @ 7

(®) e o

B

éc;mﬁmaﬂﬁﬁam

(D) Iutiaa @t

P 3 & - s T A
L2

(A) Trom e

(B) g% =

(C) FHTH

(D) e e fire

. i ¥ frafaftaa § & fra Rt 6t i

TIH A R 7

EEIS (B) weTEd
-(C) WExTE (D) IR

s aaeh o 6., F awg, o #@
gdfte foram e B e 7

A 1%E (8) 32w

(C) 5%2 ¢ (D) 72em

. ¢ UF 90 H uw e
AT e © |

(A) Hifs (B) Yerw

(C) 3T (D) HRaat

N-wiies wge s E

YT TR, WS 3R 37 il ) =5
FH GG F B |

(A) FITEE T3=T

(B) T3S UsiowH

(C) &ge Fa

(D) &T5E AFES

e ad # dferg 9 e =51 veen Yot
TR e o T ¢ T
(A) 2002 (B) 2004

(C) 2007 (D) 2018

A3 B i 30 F A, B 3tk ¢ 3w 9
23t AC AT R T o ?
(A) 12 (B) 24

(C) C.AR=ZIR (D) T @ =1 4
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34.

35.

36.

ar.

38.

39.

40.

ﬁ Who amengd the following co-founded the

'zamindar League' ?

(A) Sucheta Kriplani

(8) Pandit Neki Ram Sharma
(C) sir Chhotu Ram

() Banarasi Das

Whichis the commonestcause of postpartum
haemorrhage ?
(A) Atonicity of uterus
(B) Sub involution
(C) Birth injury
(D) Puerperal blues
is the Excel term for the files
you create with Excel.

(A) Sheet (B) Workbook
(C) Cell (D) Tab
V(CO)g is

(A) Diamagnetic

(B) Ferromagnetic
(C) Paramagnetic

(D) Anti-ferromagnetic

In addition to booting the machine, BIO§
contains another set of routines, which
ensure that the system is functioning
properly and all expected hardware devices
are present. This routine is called the

(A) Power Backup

(B) Check Device

(C) Power Device

(D) Power on Self Test

Kangaroo mother care protects the new
born from

(A) Hypocalcemia  (B) Hyperglycemia
(C) Hyperthermia (D) Hypothermia
Who lead the 1857 revolt in Rohtak of
Haryana ?

(A) Raja Nahar Singh

(B) Hassan Ali Khan

(C) Risaldar Bisarat Khan

(D) Nawab Abdur Rahman

34.

35.

36.

37.

39.

40.
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e 2 Pt e o
ag-eunaAl il 7

(A)‘g%mifqﬂﬁ’(
(B) :ﬂ%aﬁﬁtmwﬁ

(C) B BRI
(D) STATCHI &TH

e AT i Fe AT H

nsﬁqaé’rqga,ﬁamaﬁr,mﬁﬁﬁ#m
@nmﬁ%,aﬁgﬁfaam%ﬁm
a&mﬁmmm%ﬁmﬂmﬁfmmﬁm
fearga AR § | T8 TR
FEI @S |

(A) TR 3T

(B) =i feamgm

(C) T
(o)ma‘ﬁmm
ST HTET TFsiTd <l Faar s |
(A) BRA&AE  (B) FRITR AT
(C) wrafifar (D) wrEataffal

efemon ¥ Tedd § 1857 ¥ fagie &1 AqA
forem feran 7

(A) T AT e

(B) &G Il @H

(c) Prarerent faama @M

(D) TaTe 35T e




a.

42.

-43.

45.

46.

47.

Magnitude of drift velocity per unit electric

field is
(A) Current density

(C) Resistivity

(B) Current
(D) Mobility

Complete the series.
BE, GK, MR, TZ, B, ?
(A) JR (B) KS
(C) JS (D) KR
During pregnancy, the deficiency of which
among the following leads to neural tube
defects 7
(A) Calcium
-(C) Folic acid
Which of the following observations indicate
that the placental separation is oceurring 7
(A) Uterus stops contracting
(B) Maternal blood pressure stops
(C) Uterine shape changes from discoid
" to globular
(D) Umbilical pulsation stops

(B) Iron
(D) Potassium

The outward bending of a child's foot is
termed as
(A) Talipes equinus
(B) Talipes varus
(C) Talipes calcaneus
(D) Talipes valgus

Who among the following freedom

fighters of Haryana was known as the
‘Lion of Ballabhgarh' ? ‘

(A) Noor Samand Khan

(B) Raja Nahar Singh

(C) Rao Tularam

(D) Rai Bahadur Lala Murlidhar

What is designed to eliminate all

microorganisms, including spores
pathogens ? s .

(A) Medical asepsis

(B) Universal precautions
(C) Surgical asepsis

(D) Isolation

41.

42.

43.

44.

46.

47.
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& mé sien 1 T HIC |
BE, GK, MR, TZ, BI, ?

(A) JR (8) KS
(C) JS (D) KR

e 3 A Pt # & PRt F0
2 i e T A & ?

(A) Fewam (8) TIEl

(C) et 3T (D)

e § @ - g i @ i

mire R R @ e 7

(A) Tt e 79 Sl @

(B)WWWW%

(©) q\ﬁﬁm;ﬂ ﬂ@ﬁlﬂﬂﬂﬁm'ﬁh
ATl

J:,f) i -Tog] T T A ?

aeE SR Aam A AR AE
FHeeral ¢ |

(A) e 3faaa

(B) eefiem At

(C) &t Fehiad

(D) efrm ™

e F Frefeafes = aafg 8§ )
fordt *sreerTg 1 9T e ST o ?

(A) T EE T

(8) Tt AT e

(C) T g

(D) T SETGY ATl FLeiier

dfisei st Ammupett afea wf g
ﬁmﬁ%mmmw%}mﬁ
(A) Fafreadia tafEm

(B) Tt grawnfat

(C) yreatuaftreai tafey

(D) goa=ror
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48.

49.

50.

51.

53.

where is Marble found in Haryana ?
(A) Rewari (B) Gurugram
(c) Karnal (D) Mahendragarh

which of the following surgical procedure
is not performed in the correction of
Hirschsprung’s disease ?

(A) Duhamel's procedure

(B) Swenson'’s procedure

(C) Ramstedt's procedure

(D) Soave's procedure

Which factor plays an important role in the
development of attitudes ?

(A) lliness

(B) Environment

(C) Health

(D) None of the above

In a certain code, '786'.means ‘study very
hard', '958' means 'hard work pays' and
'645' means ‘study and work’. Which of the
following is the code for ‘very' 7

(A) 8 (B) 6
(C) 7 (D) Cannot determine

The first movement of the foetus perceived
by the pregnant woman is termed as

(A) Lightening (B) Engagement
—(C) Quickening (D) Ballottement

Which of the following are envisaged by the
Right against exploitation in the Constitution
of India 7
i. Prohibition of traffic in human beings
and forced labour.
ii. Abolition of titles.
iii. Protection of language, culture of
_ minorities.
iv. Prohibition of employment of children
in hazardous jobs.
Which of the statements given above are
correct ?
(A) i and iv only
(C) ii and iii only

(B) i, iii and iv only
(D) i, ii and iv only

.9.

49,

50.

51.

52.

53.
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55.

57.

S8.

Which type of delusion, patient believes that
others, oneself or the world do not exist ?
(A) Delusion of guilt

(B) Nihilistic delusion

(C) Delusion of control

(D) Paranoid delusion

Which one of the following is not correctly

matched ?

(A) Hatigumpha Inscription — Karavela
(B) Girnar Inscription — Rudra Dhaman
(C) Gwalior Prashasti — Raja Bhoj

(D) Kara Inscription — Shivaskanda Varma

Which was the capital of the Vardhana
Dynasty under the rule of King Prabhakar
Vardhana ?

(A) Kannauj

(B) Hisar

(C) Thanesar

(D) None of the above

Which of the following is not a component
of Health according to the holistic concept
of Health (World Health Organization)?
(A) Physical wellbeing

(B) Social wellbeing

(C) Religious wellbeing

(D) Mental wellbeing

Following are the clinical features of mania,
except )

(A) Disorientation

(B) Elation of mood

(C) Flight of ideas

(D) Increased psychomotor activity

The most common complication of chronic
otitis media is

(A) Deafness
(C) Mastoiditis

(B) Cholesteatoma
(D) Epilepsy

The Vernacular Press Act of 1878 was
introduced by

(A) Lord Rippon
(C) Lord Curzon

(B) Lord Canning
(D) Lord Lytton

-10-

54,

55.

56.

57.

58.

59,

60.

" (A) wie fgm
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If13+23+33+ +93=2025, then the value
of (0.11)3 + (0.22)3 + (0.33)3 +. .. + (0.99)% is
close to

(A) 0.2695

(C) 2.695

(B) 0.3695
(D) 3.695

2. Who identified the Sanctuary Potential of

63.

64.

65.

66.

670

68.

Sultanpur National Park of Haryana ?
(A) Salim Ali

(B) David Attenborough

(C) Peter Jackson

(D) Steve Irwin

The response to a sender's message is
called

(A) Receiver
(C) Encoding

(B) Feedback
(D) Channel

Which of these sites is not a UNESCO's
World Heritage Site in India ?

(A) Ajanta Caves (B) Taj Mahal

(C) Elephanta Caves (D) Bharatpur Fort

Which is the western-most district in |

Haryana ?
(A) Fatehabad (B) Panipa\
(C) Jind (D) Sir_sp

Hot applications accomplish which of the

~ following ? -
(A) Prevent infection
(B) Decrease joint stiffness
(C) Decrease blood circulation

(D) Constricts the muscles

The temporary hardness of water can be
removed by

(A) Boiling

(C) Disinfection

(B) Filtering
(D) Chlorination

Among which, the magnetic susceptibility
does not depend on the temperature ?
(A) Diamagnetism (B) Paramagnetism
(C) Ferromagnetism (D) Ferrite

61.

62.

63.
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(A) 0.2695 (B) 0.3695

(C) 2.695 (D) 3.695

g & el I7 & AEATTI

eyoT & ggaTa e 1 7

(A) Telm 3t

(8) 2fE TE=ll

(C) ez S|

(D) &a gfa

s YaF F Gew S AfaiHal

FEaTd & |

(A) STl (B) wfafsn

(C) HZ (D) I

' R -1 = vra § gaen @ faw

. e e T 8 7

(A) TR FIE  (B) AT HES

66.

A1

(C) Tehher i e (D) gt faher
aferon & ward afdt e F-a1 8 7
(A) FIBTETE (B) wrfiTd
(C) Siia (D) Tamn

ﬁmﬁmﬁﬁqﬁw‘@aﬁ%wm%?
(A) T el &
(B)aﬁifﬁmqw-mﬁ%

(C) T T Y i el &
(D)qfaﬁﬁﬁahﬁﬁﬁs'cﬁ%

oo <t areurd FIRAT F FUURS

RS EEar e |
(B) BEAT

@)



69. Who is the first Sahitya Academy Award
winner from Haryana ?
(A) Sundar Vilas
(B) Urmi Krishna
(C) Vishnu Prabhakar
(D) Ali Baksh

70. Whatis the synonymous of collapsing pulse ?

(A) Bounding pulse

(B) Water hammer pulse
(C) Pulsus alternans

(D) Bigeminal pulse

71. The Permanent Settiement (land revenue
system) in British India was introduced by
(A) Charles Reed
(B) John Shore
(C) Lord Dalhousie
(D) Lord Cornwallis

72. The first meeting on the Non-Cooperation

Movement that was held in Panipat of
Haryana was headed by

(A) Chaudhary Lal Chand .
(B) Balmukund Gupt

(C) Lala Lajpat Rai
(D) Neki Ram Sharma

T3. Which among the following is not a mosquito
bormne disease ? .-

(A) Malaria
(C) Yellow fever

(B) Dengue fever
(D) None of these

74. The scientific study of populations is called
(A) Social organization '

(B) Race
(C) Demography
(D) Culture

75. Who among the following was the first
woman politician of Haryana who served
as a Governor of a State ?
(A) Shanno Devi  (B) Chandrawati
(C) Chandrakala (D) Renuka Bishnoi

A
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76.

78.

80.

-(A) Increased intracranial pressure

Which stage of Erikson’s ps .
development theory c.‘tzaaI'sl:}‘*.ru.r)ift(tzwh05oc"'“‘l
adolescence ?7

(A) Ego— ln_te_grity vs Despair
(B) Generativity vs Stagnation
(C) Intimacy vs Isolation

(D) Identity vs Role confusion

The phase occurring immediately after
cessation of menstrual bleeding is called
(A) Proliferative phase

(B) Secretory phase

(C) Mid Luteal phase

(D) Bleeding phase

Tartaric acid should be capable of existing
stereoisomeric forms.

(B) Three"
(D) Five

in
(A) Six
(C) Two

The organ which separates the thoracic and
abdominal cavity is known as

(A) Lung (B) Heart

(C) Diaphragm (D) Stomach

For what value of * the statement,

(_.'_] [..1-) —1istrue?
15 )\ 135

(A) 15 (B) 25

(C) 35 (D) 45

What is the absolute contraindication for
Electro Convulsive Therapy (ECT)?

(B) Hypertension
(C). Hemiplegia
(D) Tumour

Following is an indication for administration
of total parenteral nutrition

(A) Pregnancy

(B) Acute pancreatitis

(C) Infancy

(D) Adolescent
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English Language I e -
N
Direction (Q. No. 83 and 84) : g7. e d TED
In each of the following questions, out of the given e e |
group of words, choose the mis-spelt one. (A) FHHarA
(B) FgaTA

83. (A) Anniversary

(B) Anasthetic
(C) Acknowledgement (D) &t fraeq UEl

(D) Altogether

84. (A) Leprosy 88. qumﬁﬁ ammd | ___________ET
(B) Liesure TS |
C) Lenient
((D)) Limerick (A) FoT ST FT
| (B) Gfea YTt
85. Fill in the blank with a suitable word from C) T TEHH F
among the alternatives given below it. (D) S

Snow fell the hills. =

(A) on '

(B) onto 89, HIgd <l AETH

(C) about (A) TEEEH

(D) around 18) T

86. In the following question, out of the given (C) T

alternatives, choose the one which is (D) TSI
closest in meaning to the underlined word )
in the sentence.
The ship was caught in the tempest and all 9. Eﬁqﬁﬂﬁ’qﬁiﬁqﬁﬂ | TEHRR |
but the captain were drowned. (A) 99 .
(A) Bad weather (B) 39
(B) Violent storm (C) TTF
(C) Typhoon
(D) Whirlpool (D) Ieem
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